RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Amending Enrollment Resolution No. 96-129)

RESOLUTION NO. 07-504

1	WHEREAS,	the Legislative Council is vested with the power to "enact laws and ordinances for
2		governing the enrollment and adoption of members and the relinquishment and loss
3		of membership" (Constitution of the Tohono O'odham Nation, Article VI, Section 1
4		(h)); and
5	WHEREAS,	Article VIII, Section 1 of the Enrollment Ordinance, Ordinance No. 5-81 (as amended)
6		provides that the Legislative Council shall determine applicant's eligibility for
7		enrollment or adoption; and
8	WHEREAS,	on January 6, 1992 the Legislative Council, pursuant to Resolution No. 92-004,
9		approved Oshun M. Flores, Roll No. 1490-GV-91 for membership in the Tohono
10		O'odham Nation; and
11	WHEREAS,	on April 8, 1996 the Legislative Council, pursuant to Resolution No. 96-129, approved
12		Oshun M. Flores, Roll No. 1741-GV-96 for membership in the Tohono O'odham Nation;
13		and
14	WHEREAS,	the Enrollment Committee has determined, based on the individual's date of birth
15		and family tree, that Oshun M. Flores listed with Roll No. 1490-GV-91 and Oshun M.
16		Flores listed with Roll No. 1741-GV-96 is the same individual; and
17	WHEREAS,	the Enrollment Manual at page 5, <i>(Filing of Application)</i> provides that once a number
18		has been assigned to an application it shall not be changed; and
19	WHEREAS,	Article X, Section 3 of the Enrollment Ordinance provides that the Tohono O'odham
20		Legislative Council shall cause the membership roll to be kept current.
21	NOW, THER	REFORE, BE IT RESOLVED THAT:
22		1. The Tohono O'odham Legislative Council approves an amendment to Resolution
23		No. 96-129 as follows:
24		That name Oshun M. Flores, Roll No. 1741-GV-96 be deleted from Resolution No.
25		96-129 and that Resolution No. 1490-GV-91 remains the same to reflect the
26		number originally assigned to his application.
27		2. The Enrollment Committee shall make the necessary changes in the records of
28		the Enrollment Office to incorporate the stated amendment.
29		

RESOLUTION NO. <u>07-504</u> (Amending Enrollment Resolution No. 96-129) Page 2 of 3

1 2	of <u>AUGUST, 2007</u> at a meeting at w	l by the Tohono O'Odham Legislative Council on the 06^{TH} . Day hich a quorum was present with a vote of 2,534.5 FOR; -0-
3		ABSENT, pursuant to the powers vested in the Council by
4		nstitution of the Tohono O'Odham Nation, adopted by the
5		ry 18, 1986; and approved by the Acting Deputy Assistant
6		ns) on March 6, 1986, pursuant to Section 16 of the Act of June
7 8	18, 1934 (48 Stat. 984).	
o 9		TOHONO O'ODHAM LEGISLATIVE COUNCIL
10		I GINGINO O ODMANIA DEGIGRATI VE OUCIUME
11		
11		Felicia Munez for
12 13		Verlon M. Jose, Legislative Chairman
13 14		13th day of <u>September</u> , 2007
15		B day of Sen Dember 2007
16		
17		
18	ATTEST:	
19		
20		
21	June John	
22	Lucille Lopez, Acting Legislative Sec	retary
23		
23 24	06 day of august ,2	2007.
25		
26	Said Resolution was submitted for a	pproyal to the office of the Chairman of the Tohono O'Odham
27	Nation on the <u>14 m</u> day of	proval to the office of the Chairman of the Tohono O'Odham <u>pept</u> , 2007 at <u>5.57</u> o'clock, <u>p</u> .M.,
28	pursuant to the provisions of Section	5 of Article VII of the Constitution and will become effective
29		ure to either approve or disapprove it within 48 hours of
30	submittal.	
31		
32		TOHONO O'ODHAM LEGISLATIVE COUNCIL
33		
34		
35		Felicia muner
36		Verlon M. Jose, Legislative Chairman
37		
38		
39		
40	M APPROVED	on the 18 day of Systenber, 2007
41	·/·	
42] DISAPPROVED	at <u>J. 15</u> o'clock, <u>P</u> .M.
43		
44		
45		//VL // M
46		NED NORRIS IR., CHAIRMAN
47		TOHONO O'ODHAM NATION
48		

RESOLUTION NO. <u>07-504</u> (Amending Enrollment Resolution No. 96-129) Page 3 of 3

1	Returned to the Legislative Secretary on the <u>j</u> $\frac{3}{2}$ day of
2	
3 4	<u>Auftuhn</u> , 2007, at <u>3:55</u> o'clock, <u>P</u> .M.
5 6	Uning I A
7	Lucille Lopez, Acting Legislative Secretary
8	
9	
10	
11	
12	
13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	
27	
28 20	
29 20	
30	
31	
32	
33 24	
34 35	
35 36	
30 37	
37 38	
39	
39 40	
40 41	
41	
42 43 44	
44	
45	
46	
46 47	

ACTION: AMENDING ENROLLMENT RESOLUTION NO. 96-129

MOVED: COUNCILWOMAN SANDRA ORTEGA

SECOND: COUNCILWOMAN GRACE MANUEL

DATE: AUGUST 06, 2007

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSEN
BABOQUIVARI	1. FRANCES MIGUEL	158.45	x			
316.9	(Roberta Harvey) 2. FRANCES G. ANTONE ()	158.45	x			x
CHUKUT KUK	1. ETHEL GARCIA	132.40	x			
264.8	2. VERLON M. JOSE	132.40	x			
GU ACHI	1. TIMOTHY L. JOAQUIN (Louis L. Johnson)	113.95	x			
227.9	2. CYNTHIA E. MANUEL	113.95	x			
GU VO	1. GRACE MANUEL	99.60	x			
199.2	2. MICHAEL FLORES	99.60	x			
HICKIWAN	1. MICHELLE ORTEGA	86.00	x			
172.0	2. SANDRA ORTEGA	86.00	x			
PISINEMO	1. CHESTER ANTONE	91.20	x			
182.4	() 2. GERALD FAYUANT ()	91.20	x			х
SAN LUCY	1. LORRAINE EILER	90.55	x			
181.1	() 2. GLORIA RAMIREZ ()	90.55	x			
SAN XAVIER	1. FELICIA NUÑEZ	98.25	x			X
196.5	(Adam P. Andrews) 2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	98.25	x			
SCHUK TOAK	1. FRANCES B. CONDE	77.30	x			
154.6	(Frederick Jose) 2. PHYLLIS CACHORA (Agnes Joaquin)	77.30	X			
SELLS	1.KIMBERLY LISTO	222.35	x			
444.7	() 2.EVELYN B. JUAN MANUEL** ()	222.35	X			
SIF OIDAK	1. WAVALENE ROMERO	97.20	x			
194.4	() 2. MARY LOPEZ ()	97.20	x			
	TOTAL	2,534.5	2,534.5	-0-	-0-	[03]